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1. (3 6asuta) Berancure:

a)  V6i4 /(=112 —/(=3)5; ) (2+\/§)(\/23—4@+\/20—6Jﬁ);

1 1 1
6 25v/6 — 13v/216 + 11v/150; 1 + L —
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2. (3 6a;na) Ilocrpoiite rpaduk GyHkmm:

) y@)=V3-z 0 fl@)=(3-2)"-3 5 g@)=VB-2?-3

3. (3 basna 3a ab, 4 Gasa 3a B) YIpPOCTUTE BbIparKeHHe:

) 9+a 6 a+b+2vab, " \/i(x—a)_\/< T )2+ 2,/a
3++v/—a vV—a—v=b 2r —a V2r++ya) N2+

4. (3 6. «a», 4 6. «6») Cpasuure uncia, He npubderas K MOMOIM KaJbKY/IATOPA U HE UCIOJIb3YS
BBIYUC/ICHUS CTOJIONKOM:

a)  VI1—vV10u V6 -5 6) V20064 V2008 u 2v/2007. 6) V1542 + V1544 u 2V/1543.

5. (3 6asna) Pemure ypasHeHue:




